a-V3S Structure:
AB3_t132_121_f ¢2i-001

This structure originally had the label AB3_tI32_121_g_£2i. Calls to that address will be redirected here.
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Prototype SV3

AFLOW prototype label AB3_t132_121_f _g2i-001
ICSD 26515

Pearson symbol t132

Space group number 121

Space group symbol I42m

AFLOW prototype command aflow —-proto=AB3_tI32_121_f_g2i-001
__Params=a, C/CL, T1,T2,T3,23,T4, %4

Other compounds with this structure
A/IO:gp7 ZI‘3II‘

e -V3S is stable above 950°C, but metastable at 25°C, where this data was taken.

e Below 825°C the system transforms to the |[5-V3S structurel


http://dx.doi.org/10.1016/j.commatsci.2021.110450
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e We have shifted the origin by 1/2 ¢ 2 from that used by (Pedersen, 1959).

Body-centered Tetragonal primitive vectors

a3 = f%af(Jr %a y + %ci
az = jaX—jay+3c2
ag = jaX+3ay—3c2
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = T1as + 2 as = axr, X (8f) S1I
B, = —x1a — T A3 = —ar1 X (8f) S1I
B; = —r1a; — 21 a3 = —azr1y (8f) S1I
B, = r1a; + 1 as = ax,y (8f) S1I
Bs %al—l—(azg—i—%) as + a3 = angc—i—%ci (8¢) Vi
Be = %al—(%—%) az — r2a3 = —a@fﬂ'%‘:i (8g) Vi
B, = - (azg - %) a; + %ag — Toas = —azxsy + %02 (8g) VI
Bs = (z2+3) a1+ 2ar+asay = ara§ + icz (8g) VI
By = (x3+ 23) a1 + (z3 + 23) as + = arsX +arsy + cz3 Z (81) VI
2x3 as
Bio = —(z3—23)a; —(z3—23)ay— = —axr3X —ax3y + cz3Z (81) VII
2x3 ag
Biy = —(wst+z)a+(vs—23)ay = arsX —arsy —cz32 (81) Vi
B = (3 — 23) a1 — (x3 + 23) ag = —azr3 X+ axr3y — c237% (81) VII
Bz = (x4 +24) a1 + (x4 + 24) ag + = arsX +axryy + cz4 (81) V III
2x4 ag
Biy = —(r4a—2z4)a;—(x4—24) 20— = —arsX —axsy + c24 % (81) V III
2x4 as
Bis = — (x4 +24) a1 + (x4 — 24) Ao = arsX —aryy — c24 2 (81) V 111
Big = (g4 — 24) a1 — (T4 + 24) A2 = —ars X+ axsy — cz4 Z (81) V 111
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